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Answers

1. 1,080

2. 800

3. 1,680

4. 700

5. 1,300

6. 800

7. 610

8. 1,810

9. 500

10. 1,640

Solve each problem.

1) For her birthday Faye received 650 dollars from her friends
and another 425 dollars from her family. To the nearest ten,
how much money would Faye have total?

ten
650 + 430

1080

hundred
650 + 425

1075 = 1080

2) At the dog show there were 650 large dogs and 147 small
dogs. To the nearest hundred, how many dogs were at the
dog show?

ten
700 + 100

800

hundred
650 + 147
797 = 800

3) While playing a trivia game, Team A scored 757 points and
Team B scored 921 points. To the nearest ten, how many
points were scored total?

ten
760 + 920

1680

hundred
757 + 921

1678 = 1680

4) Over the summer Roger earned 432 dollars mowing lawns
and another 290 dollars trimming weeds. To the nearest
hundred, how much money did Roger make total?

ten
400 + 300

700

hundred
432 + 290
722 = 700

5) In one day, a mail truck gave out 796 letters and 462
magazines. To the nearest hundred, how many pieces of mail
did was delivered total?

ten
800 + 500

1300

hundred
796 + 462

1258 = 1300

6) While organizing her files, Debby deleted 444 pictures and
378 songs. To the nearest hundred, what is the total number
of files she deleted?

ten
400 + 400

800

hundred
444 + 378
822 = 800

7) An apple orchard was split into two sections. The first had
467 trees and the second had 140. To the nearest ten, how
many trees were there total in the orchard?

ten
470 + 140

610

hundred
467 + 140
607 = 610

8) Dave collected 2 rocks from his garden. The first was 971
grams and the second was 836 grams. To the nearest ten,
what is the combined weight (in grams) of both rocks?

ten
970 + 840

1810

hundred
971 + 836

1807 = 1810

9) A cookie company held a poll asking customers their
favorite type of cookie. 209 people said chocolate chip and
283 said oatmeal. To the nearest hundred, what is the
combined number of votes for both cookies?

ten
200 + 300

500

hundred
209 + 283
492 = 500

10) Two friends were counting the amount of candy they scored
for Halloween. James received 683 pieces and Dan received
955 pieces. To the nearest ten, what is the combined amount
they both received?

ten
960 + 680

1640

hundred
955 + 683

1638 = 1640
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Solve each problem.

1,810 800 700 1,300

610 1,680 800 1,080

1) For her birthday Faye received 650 dollars from her friends
and another 425 dollars from her family. To the nearest ten,
how much money would Faye have total?

ten
650 + 430

1080

hundred
650 + 425

1075 = 1080

2) At the dog show there were 650 large dogs and 147 small
dogs. To the nearest hundred, how many dogs were at the
dog show?

ten
700 + 100

800

hundred
650 + 147
797 = 800

3) While playing a trivia game, Team A scored 757 points and
Team B scored 921 points. To the nearest ten, how many
points were scored total?

ten
760 + 920

1680

hundred
757 + 921

1678 = 1680

4) Over the summer Roger earned 432 dollars mowing lawns
and another 290 dollars trimming weeds. To the nearest
hundred, how much money did Roger make total?

ten
400 + 300

700

hundred
432 + 290
722 = 700

5) In one day, a mail truck gave out 796 letters and 462
magazines. To the nearest hundred, how many pieces of mail
did was delivered total?

ten
800 + 500

1300

hundred
796 + 462

1258 = 1300

6) While organizing her files, Debby deleted 444 pictures and
378 songs. To the nearest hundred, what is the total number
of files she deleted?

ten
400 + 400

800

hundred
444 + 378
822 = 800

7) An apple orchard was split into two sections. The first had
467 trees and the second had 140. To the nearest ten, how
many trees were there total in the orchard?

ten
470 + 140

610

hundred
467 + 140
607 = 610

8) Dave collected 2 rocks from his garden. The first was 971
grams and the second was 836 grams. To the nearest ten,
what is the combined weight (in grams) of both rocks?

ten
970 + 840

1810

hundred
971 + 836

1807 = 1810

Answers

1. 1,080

2. 800

3. 1,680

4. 700

5. 1,300

6. 800

7. 610

8. 1,810

1-8 88 75 63 50 38 25 13 0
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